SHIP STRUCTURE - VISA EXAM (02.12.2020)

Main particulars:

L = 90 + mn [metres] L= [m]
B=L/7.0 : B = [m]
T=B/2.5 _ L= [m]
D=H=L/110 - D- [m]
a=(L/500)+0.48 [metre] (a : Frame spacing) a= [m]
¢ =4a[m] (e : Distance between solid floors) g= [m]
cg=0.70 (ci : Block coefficient)

vo = 15 [knots] (vo : Maximum service speed)

Rery = 235 [N/mm?) (Ren : Yield strength of steel material)

Question 1: Calculate the SM (section modulus) of the dry cargo ship shown in Figure. Then, compare it

with minimum midship section modulus required by GL (Germanischer Lloyd).

Thickness of all plating and all other longitudinal members, which will be included in SM (section modulus)
calculation, may be found by this simple formula:

t=vL [mm] (Use a standard thickness value!!!) = [mm]

Question 2: Find the scantlings of the structural members spotted on the Figure, as ?1, ?2 and 73,

according GL rules.

Please clearly specify any assumptions that you have to make.

Note that :
mn is the last two digits of your Student ID.
For example:

If the student 1D is 0883026, then. mn is 26. Therefore, L = 90 + 26 [m] . that is, L = 116 [m]



GEMI ELEMANLARI - VIZE SINAVI (02.12.2020)
Ana degerler:

L =90 + mn [metre] L= [m]
B=L/7.0 B= [m]
T=B/25 A= [m]
D=H=L/11.0 D= [m]
a=(L/500)+0.48 [metre] (a : Posta arasi mesafe) . a= [m]
e=4a[m] (e : Dolu dosekler arasi mesafe) e= [m]
cg = 0.70 (cB : Blok katsayisi)

vo =15 [knot] (vo : Maksimum servis hizi)

Rert = 235 [N/mm?] (Ren : Celik malzemenin akma sinir1 degeri)

Soru 1: Sekilde goriilen kuru yiik gemisinin orta kesit mukavemet modiiliinii hesaplayiniz. Daha sonra,
Alman Loydu (GL) tarafindan orta kesit modiili i¢in istenen en az deger ile karsilastiriniz.

Kesit modiilii hesabinda kullanilacak tiim kaplama kalinliklar1 ve diger boyuna elemanlarin kalinliklar: su
formiil yardimiyla bulunabilir:
t=VL [mm] (Standart kalinhik degeri alin!!!) E= [mm]

Soru 2: Asagidaki Sekilde, 7?1, ?2 ve ?3 olarak isaretlenmis olan yapisal elemanlarin boyutlarim Alman
Loydu (GL) kurallarina gére bulunuz (boyutlandiriniz).

DIKKAT!!! Yapmak zorunda kaldiginiz tiim kabulleri agik¢a belirtiniz.
mn §grenci numaranizin son iki rakamidir. Ornegin, 6grenci numarasi 0883026 ise, bu durumda mn 26
olur. Boylece, L =90 + 26 [m] , yani, L = 116 [m] olarak bulunur.
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